B R T LT HE 20165 EATHAR R E 2016/3/24

=] A X K VN &
BE| 1 2 3 4 1 2 3 4 1 2 3 4 1 2 3 4 1 2 3 4
4-111 4-211 4-211
iz 1
s | B % % s
x| 2| & o oa | o | B ‘;
=2 oy T o = L Py 7
| o | = z B | s 7
S = = # T £ = T
= piild S B = 2
i & A T %2 o B #
. al -
330 i 1 z
) BSET 450 =
10:00 wE iR BHHE
4-501 4-211 | 1-221 1-221 | 4-211 |a-111fa-212[ 104 1-221 4-211 1-221|4-211| 4-501
7 ## # : 7
R mo| o8| Bl n |&la =B AL
G B Al 2w | W K| 2 |B|E = ol I
2 [~ &l 3 2 T G W o| % (Bl % 2| 2 |l 5
% |, B S A e Lz o 1 |E|&| & Ak ATl =
g ®| 7 M ! ” Il ® P >
N 4 .
10:20 ? I 2% | 148 B | 148 | F|om 148 248 L B P 7]1
11:50 R 4£H | 2EH =i | BE |es|smn| t2H S| FE Ex|mE| K
a-211| 7730 4-211 " 1-221| 4-212 4-211] 1-221 " oo 4211 1-221
| #oH| | E | T || #t #
3 A ulal® 2|8 |YEl & | g @ |W|EV|H ENE #
X mlT|Z = ho|2G & B PR3 S = |
Comlm| R |2 [TI2] % | g g [#B[2[7|2 s (% #
#t 5 T = 1 |4A[T| & 5 i 1| 0|47 1|8 T
& e I 2 I|s| & | & ¥ |F
12:50 1A x| OF 240 |z |28 == 148|248| 22 [ 58| % 148 o |%E
~ i | B % = |&| il
14:20 ;] T BE | g2 |2E| BH bR Rl hE | %
R I 1 *4 —
B =] I 4-211 4-211 1 y 4-211 1-322
&
= | = T
#|a 248 % |14 % A 2| % :
o E ‘ . i . = i #
F & o ol 0 0 g 5% | =
E| A T o W%
Z|mM - $ B
I Bl
14:40 | 148|248 248 148 24 I
16:10 | zm E PN =1l an| BE E2]
22| B a-211fa-212 4-211 | 4-212 4-211 1-221
w|a " #t
5| &5 b
| | B s | B | B
5 =z & #® #®
ks #lx w | m
% | T3 5 | T | ; g o
& A |2 w2 | o2 fﬁf % &
=3 & 1 - -
o |7 = % I I I
16:20 |28 148 248|148 I 148 =
17:50 | N B /| | ) Y-} 3l
1-221 | 4-212 | 4-211 | 4-112 4-211 | 4-212 | 4-112 4-212 | 4-211 4-211 | 4-212 4-212 | 4-211
L3 s # £ K *5 i
S la | E|2 | Bl x]|8|&|2|ea s | Rlewn B e x| # | &
3 ! ] i ) i B 7 @ b A $ P #
= | 2| B2 x|z | z|¥% (= 22 s Bl | x| &% | @
g | F | 2| B s 2| 2|:2|8 ST I N B = 1 &
1800 | g5 1 g | o ; - v U ! ¥ I
19:30 |E%%E| BE |#BEKR| HE BA | &M | hE FE | Hl Nl | #EAK &M | BE
g 4-501 4-211 | 4-212 4-211 4-212 B gy | 421 4-212 4-211
X ® i S o =
= | 5 B : G it F
= & % | = | A | = L oml B | ¥ | s = | B | 2
5 b # | @ # | m | B iel®2 28| 7| 8| 3
1940 2 = I x I I i 2= I 7 I N
— A = &£ =l 2 ES R T A B
2110 | P A & =& | =T} I - R Tl R = s
B g % Es
# =
8 ) BR
I
I
21:10
21:55 xX& HHHE
ShER(BRRE): HEEE HL: 3EXREEHE HE 5 (EM) xR, fih

ShEERMI): BEEE BL B0 RERT BN FREENE SRUANE BN ES BN (EF]) (65



